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IM TEST

A.K.T ACADEMY MHSS, ALLAKURICHI

MATHEMATICS-ONE MARK TEST

CLASS : XI FULL PORTION MARKS : 50 marks
DATE : TIME : 30 Mins

< —

. fA={(x,y):y=e*x€R}&B ={(x,y):y =e ¥ x € R} thenn(ANB) is

1) Infinity 2)0 3)1 4)2
2. If n(A) =2&N(BUC) =3,thenn[(AXB)U (AXxC(C)]is
1)23 2) 3? 3)6 4)5
3. fA={(x,y):y =sinx,x € R}&B = {(x,y):y = cosx,x € R} then A N B contains
1) No element 2) Infinitely many elements
3) Only one element 4) Cannot be determined
4. The range of the function on PRy
pemnule) 21 [l sceiufie)
5. Let f: R — R be defined by f(x) = 1 — |x|. Then the range of fis
R 2) (1, o0) 3) (-1, o) 4) (-00,1]

6. 112221 > 0, then x belongs to
1) (2, ) 2) (2, ) 3) (-0, 2) 4) (-2, )

4 g .
7. The value of ng; 5 18

1)-2 2)-8 3) -4 4)-9

8. The equation whese roots are runierically egual but opposite in sign tc the roots of 2x*5x-7=0 is
1) 3x2-5x-7=0 2) 3x2+5x-7=0 3) 3x2-5x+7=0 4) 3x>+x-7=0

9. The number of roots of (x+3)* + (x+5)* = 16 is
1)4 2)2 3)3 4)0

10. If 1 <260 <32—”, then \/2 + V2 + 2cos46 equals to

1) -2 cosH 2) -2 sinf 3) 2 cosH 4) 2 sin®

sin(A—B) sin(B—C) sin(C—-4) .
cosAcosB cosBcosC cosCcosA

I)sinA+sinB+sinC 2)1 3)0 4)cos A +cos B+ cosC
12. In a AABC, IF

1.

A. Singsingsing >0 B. sinAsin B sin C > 0, then
1) Both A & B are true 2) Only A is true
3) Only B is true 4) Neither A nor B is true
13. Which of the following is not true ?
1) sinf = —% 2) cosf=—1 3) tand= 25 4) sec0=i
14. The number of 5 digit numbers all digits of which are odd is
1)25 2)5° 3) 5 4) 625
15. There are 10 points in a plane and 4 of them are collinear. The number of straight lines joining any two
points is
1) 45 2) 40 3)39 4) 38
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16. (“'”Cr + (H'I)C(r.l) is
1) ®DC, 2) D, 3)"C; 4)"Cyy
17.1+3+5+7+ ...+ 17 is equal to
1) 101 2) 81 3)71 4) 61
18. The coefficient of x®y'? in the expansion of (2x + 3y) % is
10 2) 28312 3) 28312 + 21238 4)20Cg 28 312
19. The sum up to n terms of the series \/I-1H/§ + ﬁi\/g + \/E-lhﬁ + - s
)VZn+ 1 2) 5 3)V2n—1 4) 2
1,1, 1 .
20. The value ofz tatgtois
e?+1 (e+1)? (e-1)? e?+1
D=2 D ) e Y 2
21. The value of 2+4+ 6+ ... 42nis
1) n(n-1) 2) n(n2+1) 3) 2n(22n+1) 4) n(n n 1)
22. The slope of the line which makes an angle 45° with the line 3x —y = —5 are
1 1 1
11,-1 2)7,—2 31,3 4)2,—3
23. Equation of the straight line perpendicular to the line x — y + 5 = 0, through the point of intersection the y-
axis and the given line
Dx—y—=5=0 2)x+y 5=0 )x+y+5=0 Hx+y+10=0
24 The y-interzept of the straight line pessing through (1,3) and perpendicular to 2x — 3y +1 =0 is
3,9 .2 2
32)3 3)3 45
i . Tines x2| <y /672 = 2C080+F sjrb
25 € is acute angle between thz lines x* — xy — 6y“ = 0, then bk dos
1 Ay D 1
12) -5 e 45
26. If 2= (3i-2) and A=[aj]2x2 is
1
> 2 1ot 2 2 1ot
1) ; 2)|2 2 311 1 4) 12 2
— 1 2 1 5 9 1 2
> 2 2
1 \N2I¥ "2
27.1f A=|2 1 =2/ isamatrix satisfying the equation AAT=91, where I is 3x3 identity matrix, then
a 2 b
the ordered pair (a,b) is equal to
1) (2,-1) 2) (-2,1) 3) (2.1) 4) (-2,-1)
_|la B, : . :
28. If the square of the matrix is the unit matrix of order 2, then a,f and y should satisfy the
y —a
relation
1) 1+a+By=0 2) 1-a2-By=0 3) 1-a>+py=0 4) 1+02-py=0
-1 2 4 -2 4 2
29.1f A=|3 1 Ol and B=|6 2 0|, then B is given by
-2 4 2 -2 4 8
1) B=4A 2) B=-4A 3) B=-A 4) B=6A
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30. Let A and B be two symmetric matrices of same order. Then which one of the following statement
is not true?
1) A+B is a symmetric matrix 2) AB is a symmetric matrix
3) AB=(BA)" 4) ATB=ABT
31. If @ + 2b and 3d + mb are parallel, then the value of m is
1 1
3 23 3)6 42
32. One of the diagonals of parallelogram ABCD with d and b as adjacent sides is a@ + b . The other diagonal
BD is
i-b 2)b—d 3)d+b He
33. If Al 4 2Aj + 2Ak is a unit vector, then the value of A is
1 1 1 1
s 2i 5 ke
34. If @ and b are two vectors of magnitude 2 and inclined angle 60°, then the angle between d and d + b is
1)30° 2) 60° 3) 45° 4) 90°
35. lim 20>
X—>0 X
D1 2)0 3) o 4) —oo
2 J—
36 fim L=
20 Zx 4]
1 2,0 3) -1 4y
7 i S
20 X
1)1 2)2 3)3 4)0
38. Let a function f be defined by f(x) = x—TIxI for x # 0 and f(0) = 2. Then fis
1) Continuous nowhere 2) Continuous everywhere
3) Continuous for all x except x = 1 4) Continuous for all x except x =0
39. If f(x)=x>-3x, then the points at which f(x)=f"(x) are
1) both positive integers 2) both negative integers
3) both irrational 4) one rational and another irrational
1-£ 2t dy .
40. x=——,y=——then —1s
1+ 14 s dx
4 4 _x X
1) - . 2) ~ 3) " 4) ”
41. If is given that "(a) exists, then limM is
X—a x —_ a
1) f(a)-af"(a) 2)f'(a) 3)f(a) 4) f(a)+af'(a)
42. The number of points in R in which the function f(x) =[x-1)+[x-3|+sin x is not differentiable, is
13 2)2 31 4)4
1+ :
43. J.de 1s
cos”(xe")
1) cot(xe*+c) 2) sec(xe*+c) 3) tan(xe*+c) 4) cos(xe*+c)
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44, J.‘[anf1 , /ﬂdx is
1+cos2x

1) % +c 2) 257 +c 3)%+c 4) —%Jrc
45. fexl_l dx is
1) logle*| — logle* — 1| + ¢ 2) logle*| + logle* — 1| + ¢
3) logle* — 1| —logle*| + ¢ 4) logle* + 1| —logle*| + ¢
1 .
46fmdx 1S

1) loglx +VxZ—5|+c

2) log|logx +/logx — 5| + ¢
3) log|logx +/(logx)2 — 5| + ¢
4) log|logx — /(logx)2 — 5| + ¢

47. A, B & C try to hit a target simultaneously but independently. Their respective probabilities of

5
8

Slw

hitting the target are -, %, . The probability that the target is hit by A or B but not by C is
21 7 9 7
1) oy 2) = 3) ” 4) 5
48. A matrix is chosen at random fromn a set of all matrices of order 2, with elements 0 or 1 only. The

probabil ty that the determinant of tae matrix chosen is non zeio will be

2 3 1 5
n= 2)2 4)= 4)2
49. If two events A & B a-e inaependert such that P(4) =035 % P(4 ) B) == C.6,thken F(E)is
5 i 4 7
D3 25 )5 D3
50. It is given that events A & B are such that P(A) = %, P (%) = % &P (%) = E.Then P(B) is
1 1 2 1
E 2)= 3)2 4)=

QNNO | ANS | QNNO | ANS | QNNO | ANS | QNNO | ANS | QNNO | ANS
1 11 21 31 41
2 12 22 32 42
3 13 23 33 43
4 14 24 34 44
5 15 25 35 45
6 16 26 36 46
7 17 27 37 47
8 18 28 38 48
9 19 29 39 49
10 20 30 40 50
A.K.T ACADEMY MHSS, KALLAKURICHI Page 4 of 4

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net

